=
o
N

=
@)

1000/0 2do)/d(m_1 + m_2) [1/GeV]

=

W=~

Ratio to CMS

0.5

70

00 GeV pp.

I L L
Filtered jet mass (anti-k_(0.7), 2300<p_<450, |y|<2.5)
m CMS

--G-- Herwig++ 2.6.2 default
--3-- Herwig 7.2.1 default

7’

\|/V+Jlet

Rivet 3.1.10, = 200k events

IR
mcplots.cern.ch [arXiv:1306.3436]

N

\ ) :
A N Vi fl\——’
B 7T G b X
~ 124 \ ’ \ N
KN V2 \ 1 \ N 1
N _ - S~ \ \ \
g0 \ . \
I \ P \ —]
A ’ \ ‘
A \ \
— Ty q S —
CD \\ 3
= \
" v 1
1

\ —0.5

100
(m 1+m_2)/

|
150
2 [GeV]



	Contents
	Page 1


